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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
Paper : GGY-HG-RC-1016
(Physical Geography)

( erpfew wrarer )

1. Select the correct answer : 1x7=7

g Tes! A Sleneat ¢

(@) Ultraviolet rays of the sun are absorbed
. by -

i - T CRS
(i) stratosphere

oS

Contd.



(u) 1onosphere :

I RGTS
- (iii) ozonésphere ‘
NSO
(ib) exosphere
| AweTe
(b) -The temperature of NIFE layer is about
| ee w2 Tt =
@ - 1000°C |
- Sooo TfY 52
i) 2000°C
-7 Yooo 3 2
(@) 2500°C
, | - 3eoo f&f} 3
b . iy 3000°C
“wooo fofY (53
(c) Doldrum is a belt of
AR T
(i) Calm condition of Winds with low
pressure
b1 ie Torm I g
(i) Unstable condltlon with high
- . pressure
. T TS wfE

3 (Sem-1/CBCS) GGY HG/RC/G 2

(d)

(iii) Thunderstorm thh hghtmng
Rt owln o
(iv) None of the above .
ARG oIS 7Z™
Chemical weathering is active mainly
in the '

R Rpfiew eme: s =
(i) glaciated region
otz EweTe
(ii) arid region
T TS
(iii) karst region
pifE ST

. (iv) Norie of the above

(e)
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SANEG b1 Jy

Sedimentary rocks are mainly made up
of weathered remains of

Co ez o199 = el ﬁwﬁw Rf%E
(i) basalt
=5 aRt
(i) metamofphic rocks
- NSRS M gy
(ti) humas
B
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(iv) lgneous rocks
e e we | ed
() A deep and narrow river valley is €
@ o (5 W e IRl
() canyon or gorge - ‘
o ke
(i) V-shaped valley. .
V-SIigRe SR : e
(g) ‘Temperature and plrecip:1tat10n were &
basic features of climatic classification
" as given by

TRy, (RATRCEAS SN S SATFAIT
T fofe sRfea
(i) Trewartha

Gz

(i) Thornthwaite
R ctie

(iii) Koppen

(AN
(iv) None of the above

ARG Hie 7=/

2. Write short answer : 2x4=8
53 bes forat ¢ :

) What do you mean by monsoon
climate ?

N w=wry o B gme
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(@)
[ e e R gene

Name different layers of the lithosphere.

T Rien s A oy

(iv). What is ocean current ?
TSI Gire Wi e

(i)

3.  Write short notes on: (any thréé)

S R OB S s

() Scope of physiéal geography

- (i) Hydrological cycle
bR

5x3=15

(i) Vertical structure of atmosphere

AN THlF i
(iv) Weathering and erosion

Answer any three of the following
questions: ' 10x3=30

O 2 e ot 2 (R oY)

(i}  Describe Koppen’s climatic classiﬁcation.

10
(LA TRy TtRerem gy =1
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What do you mean by precipitation ?




I :

!i (ll) Describe the ocean bottom rehleé Paper GGY—HG %

| - features with diagram. 7+3= | (Honours Generic)

‘, - ﬂmﬁﬁﬂ O SRR 301 3 : ; (Geography of Tourism )

: . . le ©

[ - (i) What do you mean by normal cyc : ull Marks : 60

" E erosion ? Write the land feature:1 Full Mar

} . developed in different stages of norm o ' T1me Three hours

' cycle of etosion. ﬁr@:z;v;j@ The ﬁgures in the margin indicate

| ﬂmﬁ?ﬁ T ﬁ%i@'@ﬁ;i@? < ﬁ@‘ | Jull marks for the questions.

| FoiRe FHFS RS ~

Discuss th fdiémbutlon of Answer either in English or in Assame'se
i 1scuss the source. an |
' ‘(w) monsoon. wind. ' 5+5=10 1.  Answer the following as directed : 1x7=7
| ﬁrﬁm%«mﬁ—wwﬁmﬂ were e o wepiR See i o

| .

b ‘ o i _ (a) Who was the ﬁrst foreigner to visit
I . S India ?
‘t wwﬁamm&mﬁmmmﬁﬁ
| IS Wi 2 ~

) () Hiuen Tsang

{ 12

i , : ' , ) (ii[ Megasthenes

- S | | : ity -
- ' - - (iii) Fa-Hien
- F-fw
(iv) Marco Polo
| | | . - W A .

i‘ ' . g - (Choose the correct answer)
A\ - - : | ' (o7 Tewht AR Biveay)
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() Which one of the following ie‘:? not an
- - example of festival of Assam

o (JINCE! TTE TRE T w2

(i) Kherai

: NS5}

(i) Narali Pournima

(i) Hamjhar

PRI
(iv) Nimso kerung
R @ ‘ |
 (Choose the correct answer)
(% Texeor qifz Tfesd)
(c) is called ‘cultural capital’ of
Assam. A
DT T i fow e’ e |
(i) . Tezpur
cowo
(i) Nalbari
TR
(i) Jorhat
QI

(iv) Pathsala

(Choose the correct answe)
(%% Tewchs qfg Blersd)
(d) What is the fu] form of ATpc ?

ATDC 3 9 oty s
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(e) __is the ‘tea capital’ of India,
ORI BIE ATy |

(f) . Tinsukia |

(i) Darjeeling
wifeita

(i) Assam
Y

(iv) Sivasagar

[RExioTy

(Choose the correct answer)
(0% Behr AR Bhveay)
() Chitralekha Park is located at .
Poiemm o RS |
() - Shillong
- P
(i) Manipur
ROk
(i) Tezpur
4S5
(iv) Charaidey
BRITHS

(Choose the Correct answer)

(% Tewdr afp Cfarear)
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(g) Deepar Beel is located at

Ho Be < WFE@ ‘
(i) Jorhat
' (D

(i) Diphu
fog
(iii) Dibrugarh
fgore
(iv) Guwahati
Choose the correct answer)
: (5 Tool IR Brsdl)
short:

: ‘ Answer the following qgesﬁons in very x4=8

O ETRE O 57 Bes el of
(@) Name two geographical components
‘tourism.
Ao 70 (NN oA s Tl | 2
(b) Which one is the smallest National Par
in India and where is it located ? - s
CRERS FHow 3T TR (@R S 2T
o5 o
(c) Name two challenges of medlC
tourism:. :
DSl 5w 757 erepgm Brad <1 "
(d) Name two new tourism scheme®
India.

3.

(b) Raimona National Park

Write short notes on the following : (any
threg} Sx3=15

Fitste 1 esiws syoit Bt ¢ (R fofasy)
(@) Cultural Tourism : :

AFST 45w
(c) Tribes of Assam
TR TS
(d) Chapanala Falls
B RO
(e) Sri Suryya Hill
8 sArze
Answer any three questions from the
following : 10x3=30
CIE 2HBTRe A 1 ez o v fewan s
(a) What is nature tourism ? Discuss its
advantages and disadvantages.
2+8=10
U R e Sq R4 = SRR
SCETS 1 | :

(b) Analyse the facto

rs that contributed to
the slow tourism

development in North-

. East India. 10
ST iex TR AN Snme Siteen
(ICTRT TR Rowee 2=

s . sl
SERS 797 g o4l efifoig wiw SUAd
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|

(0 What is sustaihable tourism ? What
are the ways to promote sustainable

tourism ?, 3+7=10
WW%?WWW%W
B B 1)

(d) Explain the sugmﬁcance of the New
Tourism Policy, 2020 in Indian

economy. 10 .
wﬁwﬁﬁrmﬂﬁﬁaw 3030 3959
W =14 :

(e} How does tourism . affect the
env1ronment ? Illustrate W1th example.
10

(f) What i 1s hill reso

rt ? Elugi .
Prospect of hill lucidate the futur

resort in Assam tourism.
2+8=10

* Y oifiae Q
WWwi ﬁ‘ﬁ'@f‘a@ﬁﬁ
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Paper : GGY-HG-1026
(Old Syllabus)
" (Honours Generic)
( Disaster Management)
Full Marks : 60
Time. : Three hours

The figures in the margin indicate
Jull marks for the questions.
Answer either in English or in Assamese.

1. Answer the follbmng questions : 1x7="7
Y 2PITARS T fordl ¢

(@) Name the earthquake measur
instrument.

O il T A e
(b) What is greenhouse, gas ?
T 7 (1g e
~ {c) What is soil erosion ?
gy e
(d) Mention the causes of tsunami.

RIS (i i medan )

(e) Give the definition of disaster.

o el fa |

ing
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(/ What do you understand by balanced
ecosystem ? ;

“iffEfooEr et IfEE & g
(g) Give the concept of vulnerability.
RS S A LR |

Mention two reasons of water pollution.

2
A AR 70 IR T 3|
What is’ disaster management ? 2
OS] A e e
Give two reasons of landslide. , 2
SRR 75! e Ty |
What are the causes of drought?‘ 2

TN IRARE B o

Write short notes on, - (any three) 5x3=15

Y O e (Rt ety
(i) Distinguish bety

een nd
disaster. hazard a

(i)

3
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(@} Explain the physical factors of
earthquake.
g™ erglee SRR 396 39

(iv) Explain briefly the
desertification ?
TSI FIEIRIT G JIA 10 |

(v) Write a note on National Disaster
Management Authority.

g wedfiel et S9=ree Raea <5t (it |

7. What is flood ? Explain flood as a hazard in

Assam along with its causes of occurrence.

| W e 2+8=10

AR e SR QWA R R R
Sooiics T

causes of

Or/ g2y

What is landslide ? Mention the measures
that should be adopted during and after
the occurrence of landslide. 2+8=10

S 57 Sfrem (2 2SO @R Pive
R T8l GRPIRIE [RI@ 391 71|

8. Define global warming. Explain the causes

and effects of global warming in detail.
2+8=10

Ot Tlet fers vieeat | Coierie Tt g
IR Oz TR SRR [T AcEin 59 |
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Or/ 994 .
What are the major hazards and disasters
in North-East India ? Discuss how to
mitigate hazard and disasters at different
levels. . 4+6=10

Ter-o[7 OROS RRI &4 qrfiel e R &

_ %?ﬁmmmﬂmwctﬁ%ﬁw
'ﬁsmwaa"ﬁtwn

.. What is man-made hazard ? Write a note

on the causes of man-made hazard and its . |
effects in global context. . 2+8=10

TR 378 it R W 938 vrfisie e BE
R «jfadle Rfew et zrt TR o R

3t =)

Or/ LT

Explain the causes of carthquake in detail.
Write a note on North-East Indian region as
an earthquake-prone area. 3+7=10

RS PRI I 1 | @i i-eiw et iy
T35} oles A ¢t (i ﬁﬁm
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